Math 1400





Name: _________________________
Time: 50 minutes.







SAMPLE TEST#1




ID #: __________________________

Read questions carefully and answer. SHOW ALL WORK FOR PARTIAL CREDIT. 
1. (15) Find the derivative of the given function by definition (four-step method):  
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2. (12) Use the graph given below to answer the following: 
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, e) 
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g) Is f(x) continuous at x = 2, explain? 
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3. (8 each, total 48) Find the derivative for the following: 

a) 
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b) 
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c) 
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d) 
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f) 
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4. (12)  Consider the function 
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a) Find the equation of the tangent line to the graph of f(x) at x = 4. 
b) For the given function find the value(s) of x where the tangent line is horizontal. 

5. (5+8) Answer the following: 
a) Find the equation of the line that passes through the points (-2,4) and (3,4).

b) Find the vertex and intercepts of 
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